Meeth- 6 - Linear Equations Final Exam Review

e One-Step Equationsax=b;x=b

a.
b.
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-8x=64 x=-%¢ -48=12yj 8k=-32 K= 4
Solve the equation. Verify the answer.
_t=-48 48=h |, __|92, 4& = T Yy=98
12 ¢ - 576 40 ©
The morning temperature is 1of the afternoon temperature. if the afternoon temperature
L x = Mernany #(’3‘0 = ~6°C

—_—

.4
is -24°C. What is the arég;‘e& temperature?
The number of men who are left handed is 1 the number of men who are right — handed.
5 L =126
5
About 12% of men in a room are left — handed. Determine how many men in the room are
right — handed. x = 600

e Solving Two - Step Equationsax+ b=c¢

a. Solve each equation.
16x-8=56 - 1 16p+32=48 p=|
b. Solve. Verify your answer.
156 +36g=300 o =4 [5G4 36({) = 300 ISG+ 41 = 300  300= 3c0 .~
c. Samis saving $950 to buy a sound system. If he doubles the amount he has saved he will
have 25 more than he needs. The situation can be modelled by 2s — 25 = 850, where s
represents the amount he saved so far? s = 8431.¥0
d. Aliving room’s length is 2m less than three times its width. The room has a length of 6 m.
Write and solve an equation to determine the width of the living room.
1{1\5‘4’0\:3@—-3 wra"(;m
e Solving Two — Step Equationsx+b=¢ 6 =3uw-x
a
a. Solve.
-20+g=12 /95(9 56=44-x o =44
-8 3” 12
b. Solve then verify.
8+m=72 mz-,§% 8 *_[,"ﬁ’ - 72 C+ o64=72 72 =72
12 17
c. 60=-20+x > = -(22o 606 = -20 —1220 o= 20 %0 ko = o
-24 a4
d. The cost of a concert ticket for a student is $4 less than one quarter of the cost of an adult

ticket. The cost of a student ticket is $8. Write and solve an equation to determine the cost
of an adult ticket.

"
8= x _YH
4



e. Tis air temperature in °C at an altitude “h” metres, and t is the ground temperature °C.

T=t-h T=20 — £22¢ Tz -21,3°C

150 d/ 150
If the ground-femperature is 20 °C what is the temperature at 6200 m? What is the altitude
if the outside air temperature is —30 °C? -~
— 30 =70 - _h
Wi . b 150
e Solving Two Step Equations a(x + b) = c h= 7 soonn
a. Solve. ot | a
12(t-8) =48 12(4 +g) =-300 3;~2q
b. Solve and verify.
16(m=-12)=48 Mm=15 [L(I5-12)=4Dd [L(3) =g Y8-Yy§
c. The side length of an equilateral triangle will be increased by 12 cm on each side. The
perimeter of the new triangle is 1284 cm. Write and solve an equation to determine the
length of the new side.

Qerirv\n*-m - Ss

SR ey = 3(s+12)
S = Ylbem New Side = 428cna
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